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Eﬁg TREOBEBOSILHOKRES TERFDOHBEEILNOKRES TEFEOBEBOEILHOKRES TREOHBEEILADKES
7 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~ -
s 1.00 | 0.00 ~ 459 5717 | #nS | 0.00 ~ 0.00 | 1.569 849 st 1.00 | 6.00 ~ 5.00 5717 | #hds | 5.00 ~ 6.00| 1.59 8.49
2 100kN/mM##BZ5 | 1.00 | 0.00 ~ 351 156.70 |3m%E#BZ 5| 000 ~ 025)] 313 16.74 | 100kN/miZ#825 | 1.00 | 1054 ~ 3942 1566.70 |3mERBZB| 25,00 ~ 39.42| 3.13 16.74
s 1.00 | 361 ~ 1130 100.00 | #nst | 0.25 ~ 1130 3.00 16.056 st 1.00 | 6.00 ~ 1054 100.00 | =nst | 6.00 ~ 2500 3.00 16.056
3 100kN/m%E#8z%5 | 1.00 | 000 ~ 313| 150.02 |3mZE#BZ5| 000 ~ 1.05| 347 18.60 | 100kN/mi%#825 | 1.00 | 1082 ~ 4127 150.02 |3mEBZB| 4000 ~ 41.27| 3.47 18.60
s 1.00 | 313 ~ 1092 100.00 | #nst | 1.05 ~ 1092 3.00 16.056 st 1.00 | 6.00 ~ 1082 100.00 | =nst | 6.00 ~ 4000 3.00 16.056
4 100kN/mM#E#BZ5 | 1.00 | 0.00 ~ 232 136.17 |3mZE#ZB| 000 ~ 0.70| 3.29 17.60 | 100kN/mi%#825 | 1.00 | 1200 ~ 4097| 136.17 |3m&ERBZB| 20.00 ~ 40.97| 3.29 17.60
s 1.00 | 232 ~ 11 100.00 | #nst | 0.70 ~ 1011 3.00 16.056 st 1.00 | 6.00 ~ 1200 100.00 | =nst | 6.00 ~ 4000 3.00 16.056
5 100kN/mM#E#BZ5 | 1.00 | 000 ~ 234 136.45 |3m%E#BZ 5 -~ - - -] 100kN/ %825 | 1.00 | 11.79 ~ 35.08| 136.45 |3m%E#BZ% -~
s 1.00 | 2534 ~ 1012 100.00 | #nlhst | 0.00 ~ 1012 2.86 156.28 st 1.00 | .00 ~ 1179 100.00 | =nst | 6.00 ~ 3508| 2.86 15.28
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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